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QUESTION 1

Hamza purchased six 2-liter bottles of soft drink to serve at a pizza party with friends. 

If the group drank 7,264 cubic centimeters of the soda during the party, about how many liters of soft drinks remained
afterward? 

A. 2 liters 

B. 7 liters 

C. 3 liters 

D. 5 liters 

Correct Answer: D 

 

QUESTION 2

Sam is now 5 times as old as his son Paul. Four years ago, the product of their ages was 52. Find their present ages. 

A. Sam: 30 years; Paul: 6 years 

B. Sam: 15 years; Paul: 2 years 

C. Sam: 5 years; Paul: 30 years 

D. Sam: 60 years; Paul: 30 years 

Correct Answer: A 

 

QUESTION 3

The cost of 1 pound of fruit is $3.40. 

How many pounds of food can be bought for $12.00? 

A. 0.35 pounds 

B. 3.53 pounds 

C. 6.3 pounds 

D. 35 pounds 

Correct Answer: B 

 

QUESTION 4
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The figure shows two types of data distribution. 

The distribution represented by graph B is best described as __________. 

A. skewed right 

B. symmetric 

C. bimodal 

D. skewed left 

Correct Answer: A 

 

QUESTION 5

Solve the inequality 17 - 2a 

A. a 

B. a > 5 

C. a 

D. a > 3.5 

Correct Answer: D 
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